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1. Onuc HABYAJBHOI JMCIUTLIIHMA

Merta IIpakTHyHe BOJIOAIHHS iHO3€MHOI0 MOBOIO
Komnerentnicts | K02 3paTHicTh CHijIKyBaTHCS 1HO3€MHOIO MOBOIO.
Pesynprar P021 VYwmitu unTatu Ta po3ymiTH (axoBy iHIIOMOBHY JIiTeparypy ;nepeKiIagaTu
HaBYaHHS ¢daxoBy JiTepaTypy 3 1HO3EMHOI Ha piJHY MOBY Ta HaBIaKH; MPOBOAUTU YCHUMN

oOMiH 1HOpMaIi€r0, HEOOXIMHOK JJis BHUPIMICHHS 3aBIaHb mpodeciitHol
TISUIBHOCTI

ba3oBi 3HaHHA

VYci BuayM apTUKIIIB Ta 3aiiIMEHHMKIB, MHO)KMHA IMEHHHKIB, CTYII€H] TOPIBHSIHHS
MPUKMETHHKIB Ta MPUCITIBHUKIB, TUITN MTUTaHb, YaCOB1 ()OPMU aKTHBHOTO CTaHY,
NAaCUBHUU CTaH, HENIPsIMa MOBa

Ba3oBi BMiHHSA

1. Benennst Gecinm,10MOBIi HA OCHOBI THITOBUX CHTYaIlill I1JIOBOTO CHUIKYBaHHS
3 BUKOPUCTaHHSIM BHIICHA3BAHUX JICKCHKO-TPAMAaTUYHUX SIBUIIL.

2. BukopucraHHs Mg Yac MOBJCHHS Ta y MIHCHMOBIM Qopmi cremianabHOT
JICKCUKH YpOKiB 1,2

Ba3oBi HaBuUKHN

1. KopuctyBaHHS CIOBHUKAMH Ta JIOBiJIKOBOIO JIITEPATYPOIO
2. IBuakuit MOMIyK y APyKOBaHMX JDKEpenax Ta Mepexi Internet iHpopMmarrii 3a
CHEIIAJIbHICTIO Ta KPaiHO3HABUOTO XapaKTepy

[ToB’s13an1
cuiutadycu

Inozemna moBa (I-VI cemectpu, VIII cemectp)

Ilonepeons
JUCILHUILTIHA

Hacmynna

KinbkicTh
roauH

[Tpaxtuuni 3aas1Ts ¢ VII ceM.-30;
CamocriiiHa po6ora ctynenTiB: VII cem.-30

2.1 IIporpama naByajabHol aucuuiutinu (VII cemectp)

KinbkicTb
Kox HazBa [KinbkicTh
AyTMTOP-HUX
Monyas MOAYJSH Ta TEMH roqun CPC
rOAUH
Grammar: Articles, Numeral, Personal 2 2
Pronouns,Possessives pronouns
Text «Environmental science careers».-niepexian
Grammar:,Reflexive Pronouns, ,Demonstrative
Pronouns 2 2
Text « Environmental science careers»-nepekas
Grammar: Interrogative Pronouns, Defining Pronouns ) 9
Text « What does an environmental scientist doy.
3M-IT1
/ToMalliHe YUTaHHS 2 2
Grammar: Negative Pronouns,Reciprocal 1
Pronouns,Quantitative Pronouns
Text «What does an environmental scientist
do»-niepexmna.
1 1
[TucemoBe TectyBanHs Ne |




Grammar :Syntactical functions of Cardinal Numerals 2 2
Text «How do I get an environmental science degree?»
Grammar: Comparative and Superlative Degrees of 2 2
Adjectives and Adverbs
Text «How do I get an environmental science
degree?»-mepekas 2 2
Grammar: verbs “to have”, “to be”
Grammar: Present, Past and Future Indefinite; when, if
Text «What is environmental managementy.-iepexian 2 2
Grammar: Present, Past and Future Continuous
Text «What is environmental management».-niepekas 2 2
Grammar: Present, Past and Future Perfect ) )
Text « Socioecological systems»- nepexiaz
IMID Grammar: Perfect Continuous Tenses 1 1
) Text « Socioecological systems»- nepekas
/TomMalliHe YUTaHHS 1 1
Grammar: Present in the Past
Text «International framework for environmental 2 2
solutionsy- mepeka
Grammar: Sequence of tenses
Text «International framework for environmental 2 2
solutionsy»- mepekas
[TucemoBe TecTyBaHHs Ne 2 1 1
CemecTpoBa 3aJ1ikoBa KOHTPOJIbHAa poOoTa 1 1
PA3OM 30 30

Koncyabramii:

Buxknanau fuko Inona bopucisHa, cepena, 12:45 — 16:05 , ayn.615

2.2 CamocriiiHa po00Ta CTYIeHTAa Ta KOHTPOJIbHI 3aX01u

Kox 3aBnanns Ha CPC Ta KOHTPOJIbHI 3axX011 KinpkicTh Ne TioxkHSA

Mony.as T'omun
3M-I11 > IliaroToBka A0 yCHOTO OMUTYBaHHS 13 1-7

> TlucpmoBe TecTyBaHHA 1(000B’s3K0BE) : g

> IligrotoBka 70  TEPEBIPKH  JIOMAIIHBOTO

YUTAHHS

3M-112 > IligroroBka A0 yCHOTO OMUTYBaHHS 111 213;_14

> IlucemoBe TecTyBaHHs 2(000B’3KOBE) 1 12




> [linroToBka [0 TMEpEBIpKH JIOMAIIHBOTO

YHUTaHHA

[TiaroToBKa 10 3aJ1iKOBOi CEMECTPOBOT KOHTPOJIBHOI poOOTH 1 15

PA3OM 30

Ouinoseannua KOHmMpoaAbHUX 3ax00i6 oasa 3IM-I11

-- 1. a) ycHe onutyBaHHs ( epeKIiajl Ta nepexkas TeKCTiB) — 12 6aiB
MaKCUMAJIbHO;
0) ycHe onuTyBaHHS (JIOMAIIHE YUTAHHA) —4 Oau MaKCUMAaJIbHO;
B) NUCHMOBI BripaBu — 10 6aJliB MaKCUMaabHO;
--2. ITucemone TectyBanHs Ne 1 — 50 GaniB MakcuMatbHO (000B’I3KOBE)

Ouinoeannua KOHmMpoOaAbLHUX 3aXx00i6 011 3M-I12

--1. a) ycHe onuTyBaHHs (TIepeKIIajl Ta epekas TeKCTiB) — 12 6amiB
MaKCHMAJTbHO;

0) yCHe ONUTYBaHHs (JIOMaITHE YUTaHHA) —4 0alld MAKCUMAIIbHO;

B) MUCHMOBI BripaBu — 10 O6ayriB MakCUMaJIbHO;
--2. [TucpbmoBe TectyBanHs Ne 2 — 50 GasniB MakCUMaJIbHO (0OOB’SI3KOBE)

CemecTtpoBa 3a1ikoBa KOHTpOJbHA podoTa — 100 6aniB MakCUMaabHO
(000B’s13KOBA)

Cyma 6ainiB, Kl OTpUMaB CTYJEHT 3a JIBOMa 3MICTOBHUMH MonysaMu VI
ceMecTpy, (GOopMyIOTh KUTBKICHY OLIIHKY (0an ycmimHocTi). Pesynbsraru
MIOTOYHOTO KOHTPOJTIO 3aHOCSATHCS JI0 IHTETPaIbHO1 BIJIOMOCTI.

CTyneHT BBaXKAETHCS JOMYIIEHUM O MiJCYMKOBOTO CEMECTPOBOIO
KOHTPOJIO, SIKIIO BiH BHUKOHaB BCl BHAM poOIT, mnepeadadeHi poOOYOrO
HABYAJILHOIO MPOTPAMOI0 JUCIHILIIHK 1 HA0paB 32 MOIYIHHOIO CUCTEMOIO CyMY
6aniB He MeHue 50% BiJ MaKCUMaJIbHO MOXJIMBOL 32 IPAKTUYHY dYacTUHY (50

OauiB).

[TinCyMKOBHUM KOHTPOJIEM 3HAHb CTYACHTIB € 3aJiK.

CryaeHT oTpuMY€ 3aJiK, KOJIM BIH Ma€ Ha OCTAHHIN JIEHb CEMECTpPY

IHTErpajbHy cyMy OalliB MOTOYHOI'O KOHTPOIIIO, TOCTaTHIO (60% Ta Ouible) st

OTPUMAaHHS MO3UTUBHOI OIiHKH (60 GamiB).



B sxocti (opMH MOTOYHOIO KOHTPOIIO MPaKTUYHUX MOAYNIB — YCHE
ONMHUTYBaHHS, THCHMOBI BIPaBH, MUCHMOBI TecTyBaHHSA 1,2 (000B’s3koBi). B
SAKOCT1 (POPMHM MIACYMKOBOTO KOHTPOJIFO CEMECTPOBA 3ajlikoBa poboTa.

Axmo cyma OaniB, siky HaOpaB CTYIEHT 3a pe3yibraTaMu T€CTyBaHb 1, 2,
menma 50 OaniB, BiH HE BBAXAETHhCS JOMYIIEHUM JI0 CEMECTPOBOI 3aJIIKOBOI
KOHTPOJIBHOI pOOOTU. Y 1IbOMY BHUIIAJKy CTYACHT MAa€ MPaBO MIJBULIUTH CYMY
OayiB 3a paXyHOK HEOOOB’SI3KOBUX BH[IIB POOOTH, SIKI OLIHIOIOTHCS HACTYIHUM
YHUHOM:

1) PoGota 3 TekcTtamu
- yCHUU mepexiaa Tekcrty -1 6a;
- mepekas TekcTy — 1 6air;
- CHOMCOK HE3HalOMHUX CJIIB Ta BHUpa3iB 3 MEPEKIAJIOM YKPaiHCHKOIO
MOBOIO — 1 Gan
- MHUCHbMOBE pe3toMe TeKCTy — 1 6an
VYcboro 3a OMH TEKCT MaKCUMaJIbHO 4 Oanu.
3M- II1 mictuth TtekcTH: ypok I Tekctu A, B. C, ToOTO MakcumanbHa
OI[IHKa 32 TEKCTU — 12 OaiB.
3M — 112 wmictute 3 Tekctu: ypok II teketm A, B, C, t00TO
MakKCHUMaJIbHa OIIHKA 3a TEKCTH — 12 OasiB.
VYceworo 3a cemectp — 24 6anu.
2) TlucrmoBe BUKOHAHHS TpaMaTUYHHX BIIpaB — 1 Oai 3a KOXKHY BIIPABY.
Hns 3M —I11 — 10 6amnis; g 3M — 112 - 10 6amnis.
VYceworo 3a cemectp MakcuMalibHo 20 OariB.
3) 3aBagaHHs 3 JOMAIIHBOTO YATAHHS OLIHIOETHCS HACTYITHUM YUHOM:
1 6an — mepexiaja 3 aHNMCHKOI MOBU YKPATHCHKOIO;
1 6an — HasBHICTH CHUCKY HE3HAMOMUX CJIB Ta BUPA3iB y KIJIBKOCTI HE
meH1re 100;
1 Ganm — KOpOTKE YCHE pe3loMe€ 3MICTYy TEKCTY aHMIIMCHKOIO MOBOIO
o0csaroM 7-8 peueHs;
1 6an — MUCHMOBE PE3IOME aHTITIMCHKOO MOBOIO.
MakcumaineHa o1iaka - 4 6anu misg 3M — 111 ta 4 6amu mis 3M — 112,
T0OTO 8 OaJTIB 3a cemecTp.
OO6csr crarti (abo aexinpkox ) — 20 THc. mp. 3H. 3a VII cemecTp.

[aTerpanpHa ouinka (B) mo guciumutidi po3paxoByeTbes 3a GOPMYIIOH0
B =0,75 x O3 + 0,25 x O3KP,

ne O3 — kinbKicHa oOIliHKa (y BIJICOTKax BiJ MaKCHUMalbHO MOXKJIMBOI) 3a
3MiCTOBHUMH MOJYJISIMU;



O3KP - kinbkicHa oIiHKa (y BIJCOTKax BiJ MaKCHUMaJlbHO MOXKJIUBOI)
3aJIIKOBOT KOHTPOJILHOT POOOTH.

IlutanHss [0 3axoAiB MOTOYHOr0 Ta MiJICYMKOBOIO0 CeMeCTPOBOIO

KOHTPOJII0
[Tucemosi tectu 10 3M-I11 — 3M-I12 cxmamarorbest 3 30 MUTAHB KOKHUM.

Koxna mpaBuwiibHa BIiJMOBIAL OIIHIOETHCA y 1,7 Gama aiis MHUCBMOBOTO
tectyBaHHs Nel tay 1,7 Gana aJisi TUCEMOBOTO TeCTyBaHHS Ne2.

CemecTtpoBa 3a1ikoBa KOHTPOJIbHA pOO0OTA CKIAMAETHCSA 3 25 TUTAHb.
KoxHa npaBuibpHa BiATIOBIIL OIIHIOETHCS Y 4 Oanu.

3.Pexomenaanii 10 caMOCTii{HOI pOOOTH CTYIEHTIB
3M-II1

ITix vac BUBYCHHS TEM IIOTO MIPAKTUIHOTO MOIYJIS CITi/T 3BEPHYTH OCOOTUBY
yBary Ha pi3He JICKCUYHE 3HAUYCHHS Ta MepeKyIa] OMHAKOBHX 3a (HOpPMOIO
3aIMEHHUKIB.

Jliteparypa:
I --cT.;4- 8
4 - ct.1- 32.

IIuTanHs 1A caMonepeBipKU

1.After I’d ironed my shirt it looked ... than before.

A. creaseder B. more creased C. the most creased
2.1 think he was ... than brave.
A. more mad B. madder C. Most mad



3... my three brothers , Adam is the oldest.
A. From B. Due to C. Of

4.1t is not as quite a place ... it used to be.

A. like B. as C. less

5.1 checked the form ... carefully but didn’t notice the mistake.
A. most B. less C. The most

6.1t was the tallest tree ... the forest.

A. of B. from C.in

[IpaBmibHI1 BIAIOBIII
1-B; 2-A; 3-C; 4-B; 5-A; 6-C

3M-I12

[Tix yac BUBYCHHS TEM IILOTO MPAKTUIHOTO MOAYIS HEOOX1THO 3aram’siTaTh
PI3HOMAHITHI JJEKCUYHI Ta rpaMaThyHi (popMu 1Jis1 BUPAKEHHS OPIBHIHHS.

Jliteparypa:
1 --c1.17-22;
2 --ct.32-71.

IIuTaHHs 118 caMonepeBipKu

1. The price of the holiday includes all meals ... lunch.

A. except for B. without C. Except that
2. After the operation he could see nothing ... vague shadows.
A. apart from B. apart C. Except from
3. ... her novels and poems, she published a number of short stories.
A. Except for B. But for C. Besides
4. Idon’tcare ... the theatre much.
A. to B. for C. about
5. Stefan’s story agreed ... that of his son.
A. for B. To C. with
6. 1 was asked to talk ... my research.
A. on B. of C. to

[IpaBuibHI1 BIAIOBIII
1-A; 2-A; 3-C; 4-B; 5-C; 6-A




Bka3iBKH 3 MiATOTOBKHA MUCHbMOBOI0 MEePeKIaay

TekcT cyCniabHO-MOMITUYHOTO 3MICTYy MOXKE CTOCYBATHCS OyIb-sIKOi
TeMU (TIOJIITUKA, EKOHOMIKA, KyJIbTypa, MUCTEITBO, KpaiHO3HABCTBO Ta
1H.). Bin mae HamuyBatu npubnuszHo 20 THC. Ap. 3H. Ta OyTH
IPEICTaBIICHU y BUIIISIII KCEPOKOTIiT a00 PO3IPYKIBKH 3
[aTepuer-Bunanus. Jlo nmepexiaaay yKpaiHChKOK MOBOIO CIiJ JOJATH
CIIMCOK HE3HAMOMMX CJIIB Ta CJIOBOCIIONYYEHbB 3 IXHIM NEPEKIIAIOM Y
KitbKoCT1 He MeHIe 100 JeKCHYHUX OIMHMITh, Ta KOPOTKE PE3IOME
aHTITIICHKOIO MOBOIO.

4.1IuTaHHs 10 3aX0AiB MOTOYHOI0, MIICYMKOBOI'0
Ta CEMECTPOBOI0 KOHTPOJIIO

VYV nykKax — TNOCWIAHHS Ha JpKepena, A€ MOXKHAa 3HaWTh iH(dopmaliio, Ta
BIMOBiAHI cTOpiHKHU. (IuB. po3ain 5).

4.1 TectoBi 3aB1aHHs 10 TecTyBaHHsA y moxyJi 3M-II1

1. Supply “the” or “a” where it necessary (3, ¢.204-207):

a) watches have become very cheap and very attractive.

b) Most of watches you see today work on quartz.

¢) What has been the longest period of peace in history?
d) If you study history, you’ve got to read a lot.

e) We travelled by car around  Europe last year.

f) [ haven't been  Netherlands yet.

g) Brazil is the largest country of  South America.

h) I didn't go to  work yesterday.

1) Did you visit _ Oxford Street?

7) When did you graduated from  Cambridge University?

2. Fill in the blanks with personal pronouns (3, ¢.236-237):
Model: I see a girl, I see her:

a) We know this boy, we know
b) I'm glad to meet both Tom and Ann, I'm glad to meet
c) Give me the book, give to me.

d) I didn't see Ann, I didn 't see

e) This task was given to you and to me, it was given to




f) This is our dog, we love __ very much.

3. Fill in the blanks with missing possessive pronouns (3, ¢.238):

a) This is not key, it must be ..
b) Tell me, isn’t that girl-friend over there?
c) I see that he has lost pencil, perhaps you can lend him

d) No country is so beautifulas

e) He promised to take me his book, so I'll not take
f) I put on my coat and she putson

g) [ have eaten all my chocolates. Have you eaten all

4. Complete these sentences using “ myself/yourself”, etc. (3, ¢.237):

a) It isn’t her fault. She really shouldn’t blame

b) Did you make the dress ?

c¢) The boy was lucky when he fell down the stairs. He didn’t hurt .
d) Our new neighbours knocked at our door and introduced

e) The newcomers built the houses

f) You shouldn't blame | it was not your fault.

g) We must protect  from the cold.

5. Insert interrogative pronouns (3, c.238):

a)  do we call this sea?

b) are your intentions for the holiday?
c) __ turnis it now?

d)  isspeaking?

e) s John? Is he an engineer?

f) bag is this? Yours or Simon’s?

6. Insert” every/each” or” either” (3, ¢.237):

a)  day he comes here, and time he asks me the same questions.

b) There was a huge building on side of the square, having a massive
arched gate.

c¢) There were huge buildings on side of the street and had rows of
balconies as its only decoration.

d) Which would you prefer, the Webster or the Oxford dictionary? - will
do. Thank you.
.¢) He shook hands and had a few minutes’ talk with of us.

10



7. Supply the appropriate pronoun out of those given in brackets (some,
any, no) (3, c.238):

a) You can find him time between six and nine.

b) He can answer question on the subject.

c) Can we have  milk?

d) Thereis __ milk in that jug.

e) Have you  idea who could have borrowed your bicycle?
f) Are there  letters for me?

g) He lives  where in France now.

8. Supply” anybody/anyone, nothing, anything, nobody/no one,
somebody/someone or something/somewhere/anywhere” (3, ¢.237):

a) Isthere in the basket? - No, it’s empty.
b) Can translate these sentences?

c)  I’ve prepared for dinner which you’ll like very much.
d) Do you live near Jim?

e) They slept in the park because they didn’t have to stay.
f)  can claim that some subjects aren't harder than others.

g) It is time you did about this subject.

h) Thereis  in the basket. It is empty.

9. Use “there is (are)” construction in the necessary tense form (3, c.125-
128):

a) Look! their telephone number in the letter.

b) How many students  in your group?

c¢) I was hungry but _____ anything to eat.

d)  somebody at the airport to meet you when you arrive tomorrow.

10. Supply the quantitative pronouns “much, many, a lot of, few, a few,
little, a little” (3, ¢.236 — 237):

a) Thereisnot  space in this flat.

b) There aren't portraits of Ch. Dickens.
c) I must say you have books.

d) Thereare  who know about this.

e) Itis a difficult text. I've had to look up quite  words in the dictionary.

11



11.

f) If you don't hurry we'll miss our train. There's time to spare.

Choose the right forms in these sentences. In some cases both forms are

right (3, ¢.218-220):

12.

Is the station much (further/farther)?

Your record is (worse/worst) than mine.

It’s the (less/lesser) of two evils.

She always wears the (last/latest) fashion.

Nick skates (good/well).

His (latest/last) words were: “The end.”

She is the (oldest/eldest) member of our family.

Complete these sentences using the correct form of the adjectives given

in the brackets (3, ¢.218 -220):

13.

a) What is the building in your city? (large)

b) He was the singer of this year. (popular)
c) Today your answeris _ than usually. (bad)

d) Who is the student in your group? (good)
e) What are the days of your life? (happy)

f) His caris than mine. (good)

Fill in the blanks with the appropriate form of the verb “to be” (3, c.125

~ 126):

G,

a) The crew rescued by our boat.
b) Her clothes  very fashionable.

c) No news good news.

d) Where my spectacles?

e) The phenomena unusual.

f) Mathematics difficult.

2) the data precise?

h) There a lot of sheep in the field

14. Give the interrogative and negative forms of the following sentences
c. 125-127):

a) He has a lot of experience.

b) She has got long dark hair.

c¢) They had late supper tonight.

d) We have got a lot of problems now.

12



15. Fill in the blanks with the appropriate words:

a) 1) in Environmental Science are so varied it is difficult to consider
them as one category. You could end up working from home most of the
time or 2) around the world on an annual basis. You could be
doing 3) work, field work, or some combination thereof. Your 4)
_____could be mathematical, physical, or written. Of course the majority
careers in Environmental Science are some 5)

Those engaged in Environmental Policy, Planning, and Management usually
work for a local 6) and are likely to be engaged in a lot of research
intensive work. Environmental 7) may be able to get out of the office
to the 8) , or, again, have intensive desk jobs.

A. Desk B.lawyers C.focus D. Careers E. blend in-between F.
traveling G. government H. courtroom

b) Environmental scientists are problem 1) . They research
environmental and health problems to 2) their causes and come up
with 3) . They investigate 4) like mysterious deformations
in frogs, unexplained cancer occurrences in a neighborhood, or disease in
the 5) asbestos mining towns.

Environmental scientists 6) research to identify the causes of these

types of problems, and how to minimize or eliminate them. They also

conduct theoretical research that increases our 7) of how the
natural world works. They use what they learn to make recommendations and

8) strategies for managing environmental problems.

A. understanding  B.issues C.develop D.solvers E.conduct
F.solvers G. former  H. determine

c) Environmental scientists conduct research to identify, control, or eliminate
1) of pollutants or hazards affecting the environment or public 2)
. Their research generally involves determining 3)
collection methods; collecting and analyzing air, water, and soil 4)
; analyzing environmental data gathered by others; and analyzing
for correlations to human activity. They also need to prepare reports and
presentations that 5) their findings.

13



Environmental scientists also develop plans to prevent, control, or fix
environmental problems like air 6) . They may also advise government
officials that make policy, and businesses that need to follow regulations or 7)

their practices. Some conduct environmental inspections of businesses.

Many assess the potential effects of development projects to 8) creating
new problems.

A.

d)

Explain  B.samples C.sources D.prevent E.health F.
improve  G. pollution  H. data

The 1) professional thus became increasingly confronted by
competing or even conflicting environmental objectives, made even more
complicated by the multifunctional character of the ultimate2) ,
sustainable 3) . Here, global guidance was sadly lacking; our
objectives have evolved faster than the development of new
methodologies and 4) . Even nearly 15 years after the Earth
Summit in Rio de Janeiro there are still few 5) on how to
reconcile environmental quality with economic performance and social 6)
. The internationally agreed on Millennium Development
Goals, the multiple objectives of the World Summit on Sustainable
Development (WSSD) in Johannesburg 2002, and even the
comprehensive Agenda 21 all suggest useful goals. But they 7)
with lists of single issues and give no hint of how these can be integrated
during the implementation process. We found ourselves, quite suddenly,
with a host of goals and a full toolbox, but with no guidance manual to
tell us how to put them all together in a coherent 8)

A. manner B.goal C.deal D.environmental E.policies F.
guidelines  G. welfare  H. development

4.2 TecToBi 3aBJaHHA 10 TecTyBaHHA y Moay.Jai 3M-I12
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I.Put the verb in the 3-th person singular (3, ¢.126 — 127):

a) They wish to speak to you. (He)
b) They help their father. (She)

¢) You watch too much TV. (He)

d) They worry too much. (She)

e) | always carry an umbrella. (She)

2. Make the following sentences negative (3, ¢.126 — 127):

a) The waiters do their work well.
b) The dog sleeps all day.

c) The students have new textbooks.
d) She tries to play tennis well.

3. Make the following sentences interrogative (3, ¢. 126 — 127):

a) His sons go to the local school.
b) They fish in the lake.

c) Elephants never forget.

d) The river freezes in winter.

e) She realizes the danger.

f) We sometimes miss the bus.

4. Use the Present Continuous in the following sentences (3, ¢. 128):

a) Don't rush me. I as fast as I can. (work)

b) What ? It looks awful. (drink)

c) He to catch his train. (hurry)

d) What time he tomorrow? (arrive)

e) She to lock the front door now. (try)

5. Put the verb in brackets into the Present Indefinite and the Future
Indefinite (3, c.125-127):

a) I (be) at home if you (need) anything.

b) He (wait) until they (send) for him.

¢) I (not know) when they (come) to see us.
d) He can’t tell us when the motor (start).
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e) I (phone) you if I (not forget).

6. Put the verb into the Present Continuous or the Past Continuous (3,
c.128- 129):

a) Please be quiet. I (try) to sleep.

b) Why you (look) at me like that? Am I green or something?
¢) Ann (wait) for me when I arrived.

d) It’s a good play, isn’t it? You (enjoy) it?

e) You (watch) television when I phoned you?

7. Put the verb into the correct form, the Present Continuous or the
Present
Simple (3, c.125, 128):

a) These things (not belong) to my parents.

b) Look! He (come). I (want) to speak to him.

c¢) This stream (flow) to the lake at the bottom of the valley.
d) Today the river (flow) much faster than usual.

¢) She (look for) a new flat at the moment.
f) A: What your husband (do)?
B: He’s a broker but he (not work) at the moment.

8.. Put the verb in brackets into the Past Indefinite or the Present Perfect
3, c.126, 129-130):

a) I just (call) him.

b) I (not call) him yesterday, I was busy.
c¢) She already (answer) the letter.

d) She (answer) it on Tuesday.

e) My friends (go) away five minutes ago.

f) He (not smoke) for two weeks. He is trying to give it up.
g). When he (arrive)? - He (arrive) at 2.00.
h) You (have) breakfast yet? - Yes, I (have) it at 8.00.

9. Open the brackets using Present Perfect, Past Simple, Past Continuous ,
Past Perfect (3, c.126, 128, 130):

a) I just (to meet) him.
b) Look! Sam (to bring) some cheese biscuits.
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c¢) They (to dance) from six till ten o’clock.

d) We (not to see) each other before we (to come) to the place.

e) The meeting (to begin) before he (to come) to the place.

f) Yesterday we (to return) home late.

g) We (to understand) that she (not to see) us before.

h) At seven o’clock yesterday Cathy (to sleep) as she (to be) tired.

10. Open the brackets using Present, Past, Future Simple; Present, Past,
Future Continuous; Present, Past, Future Perfect (3, c.125- 130):

a) She (to go) to school every day.

b) Beth (to go) to school at the moment.

c¢) The lesson already (to begin).

d) He (to go) to school tomorrow?

e) Tomorrow at this time I (to be) at school.

f) What they (to do) at seven o’clock yesterday?

g) Next Sunday he (to play) tennis from ten till twelve.

h) Where he (to be) now? — He just (to go) to the library!
1) I (write) the letter before you come.

1) I (finish) to translate the article by 10 p.m. tomorrow.

11. Open the brackets using Present Simple, Present Continuous, Present
Perfect, Present Perfect Continuous (3, c.125, 128, 130- 131):

a) Her children (to be) in the yard. They (to play) football now. They (to play) it
since ten o’clock.

b) She (to speak) English well. She (to study) it for five years. Listen! She (to
speak) English to her teacher.

c¢) His son just (to return) home. He (to be) dirty. He (to play) volley-ball.

d) Where David (to be)? — He (to be) in the library. He (to work) there at the
moment. — How long he (to be) there? — He (to work) for three hours.

e) Why she (to look) tired? - She (to work) all night.

f) Since when they (to wait) for us? - They (to wait) for half an hour. We (to be)
late.

g) My sister (to drive) a car. She (to learn) to drive for two months.

12. Open the brackets using Future Simple, Future Continuous, Future
Perfect, Future Perfect Continuous (3, ¢.127, 129, 130-131):
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a) He will be hungry because he (not to eat).

b) We (to go) by train for two days by the time we get there.
¢) She will be tonight as she (to work) all day.

d) Brian (to have) dinner when mother comes.

e) They (to meet) us by the time they have to leave Ukraine.

f) She (to work) at school for twenty years by 2001.

g) My sister (to study) for five years when she gets her degree.
h) Don’t be late! They (to wait) for you in the cold.

13. Put the following sentences into the past (3, c.149- 151):

a) [ know that his father is a teacher.

b) We are sure they will recognize us.

c) She thinks that I am playing chess.

d) He tells me that his father was a teacher.

e) He is telling us that he has a good ear for music.

f) They say that they will be sitting in the second row.
g) Christine asks if we posted her letter.

14. Open he brackets using Future Simple, Future Continuous, Future
Perfect a0o Future in the Past Simple, Future in the Past
Continuous, Future in the Past Perfect. Translate into Ukrainian
3, c.149- 151):

a) He says he (to phone) me in two days.

b) He said he (to phone) me in two days.

c) I think they (to work) from two till seven on Friday.
d) I thought they (to work) from two till seven on Friday.
e) He is sure he (to finish) translating by the evening.

f) He was sure he (to finish) translating by the evening.
g) We suppose Beth (to play) the piano at six.

h) He understood she never (to forget) him.

1) I heard Nick (to return) by Sunday.

7) We knew he (to bring) good music.

15. Put the following statements into indirect speech (3, ¢. 154 — 155):

a) “I can live on my basic salary”, - said Peter.
b) “We're waiting for the school bus”, - said the children.
¢) The officer commanded: “Stay where you are.
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d) “She explained: “We will go on an excursion tomorrow”
e) “No, I have no time”, - she said. (She answered ...)

16. Fill in the blanks with the appropriate words:

a) The 1) professional thus became increasingly confronted by
competing or even conflicting environmental objectives, made even more
complicated by the multifunctional character of the ultimate2) ,
sustainable 3) . Here, global guidance was sadly lacking; our
objectives have evolved faster than the development of new
methodologies and 4) . Even nearly 15 years after the Earth
Summit in Rio de Janeiro there are still few 5) on how to
reconcile environmental quality with economic performance and social 6)

. The internationally agreed on Millennium Development
Goals, the multiple objectives of the World Summit on Sustainable
Development (WSSD) in Johannesburg 2002, and even the
comprehensive Agenda 21 all suggest useful goals. But they 7)
with lists of single issues and give no hint of how these can be integrated
during the implementation process. We found ourselves, quite suddenly,
with a host of goals and a full toolbox, but with no guidance manual to
tell us how to put them all together in a coherent 8)

A. manner B.goal C.deal D.environmental E.policies F.
guidelines  G. welfare  H. development

b) Environmental management is not easy to 1) . As Barrow (2005)
has acknowledged, it can 2) to a goal or vision, to attempts to steer
a process, to the application of a set of tools, to a philosophical exercise
seeking to establish new perspectives towards the environment and human
societies, and to much more besides. Environmental managers are a
diverse group of people 3) academics, policy-makers, 4)
organisation (NGO) workers, company employees, civil servants and a
wide range of individuals or groups who make 5) about the use of
natural 6) (such as fishers, farmers and pastoralists). Indeed,
environmental management involves all people to some 7)
because all human activities ultimately have some sort of environmental
8)
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A. extent B.including C.refer D.impact E. non-
governmental  F. resources  G. define  H. decisions

c) In general environmental management 1s concerned with the
understanding of the structure and function of the 1) system, 2)
___of the ways in which humans relate to their environment.
Environmental management is therefore concerned with the 3)
and monitoring of environmental changes, with 4) future changes
and with attempts to 5) human benefit and to 6)
environmental degradation due to human activities. Yet, characteristically,
environmental management is about decision-making - and it is especially
concerned with the process of decision-making in relation to the use of
natural resources, the pollution of 7) and the modification of
ecosystems. Fundamentally, then, environmental management is a
political activity because those decisions - about resources, pollution and
ecosystems — are never 8) j or objective; on the contrary, they are
value laden and they reflect the exercise of power by particular groups
over others.

A. maximize B. neutral C. earth D. habitats E. as well as
F. minimize  G. predicting  H. description

4.3 TecToBi 3aBJaHHS 10 CEMeCTPOBOI 3aJ1iIKOBOI KOHTPOJIbHOI P000TH
(7 cemecTtp)

1.Supply ‘the’ or ‘a/an’ where is necessary (3, ¢.204- 207):

1) People used to pay in ... gold.

2) What will ...weather be like tomorrow.

3) His aunt, ... woman of uncertain age, was also present at ... ceremony.
4) I couldn’t hear ... word she spoke.

5) This is ...safest way out I’'m sure.

6) There was ... air of excitement at the meeting.

2.Put a personal pronoun in the appropriate case or in the absolute form
instead of the noun in the brackets (3, c. 236- 237):

1) (Jane) told (Alice) to help (Mare and Peter).
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2) (My father) seemed surprised to find (Alice and I) there.

3) (My brother) gave (Mike) a very interesting story to read.

4) Ring (I) up tomorrow.

5) He promised to give me his book, so I’ll not take (your book).
6) Your flat is much larger than (our flat).

7) She put on her coat and I put on (my coat).

3.Put the adjectives in the brackets in the appropriate forms (3, c.218- 220):

1) They were his (last) words.

2) She is my (old) sister.

3) They were having the (violent) argument I had never heard.
4) Your car is (large) than mine.

5) Itis (good) thing we can see.

6) He speak English (badly) than I expected.

4.Supply the correct reflexive pronouns (3, c.236- 237):

1) Jane prides ... on her ability to judge people’s characters.
2) Our new neighbours introduced ...
3) We amused ... playing football on the beach.

5.Supply the defining pronouns every, each, everyone, everything, all, whole
in the following sentences (3, ¢.239- 240):

1) When the famous actress appeared, ... wanted to speak to her.
2) Nearly ... home in the country had television.

3) Here is something for ... of you.

4) You have been given ... opportunity to do well in this company.
5) The ... list is endless.

6) They had ... married a woman called Linda.

6.Insert some or any (3, ¢.239):

1) Don’tlet ... one in. I'm too busy to see ... body.
2) When would you like to come? ... day would suit me.
3) ... thing tells me you’ve got ...bad news for me.

7.Use the correct Present (Simple or Continuous) tense form (3, c.125- 126,
128)

1 )These flowers (smell) very sweet.
2) The boy (swim) back towards the beach now.
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3) He (leave) tomorrow morning.
4) You (think) he is right?
5) I (think) about his suggestion.

8.Supply the Past (Simple or Continuous) of the verbs in the brackets (3,
c.126- 127, 128- 129):

1) We (not go) out because it (rain).

2) I (see) Helen at the party, she (wear) a really beautiful dress.
3) Jane (have) dinner when her friend (call).

4) What you (do) at this time yesterday?

9. Supply the Present Perfect or the Present Perfect Continuous of the verbs
in the brackets (3, ¢.129- 130, 131):

1) I (type) all your letters. The job’s done.

2) I (type) this report since yesterday and I’m only half way through.
3) Your mother is still in the kitchen. She (cook) all morning.

4) I (cook) a lovely meal which I’ll be preparing in a few minutes.

10. Supply the Past Perfect or the Past Perfect Continuous of the verbs in
the brackets (3, ¢.130 - 131):

1) I knew she (do) the washing because the machine was still working when
I got in.

2) I knew she (do) the washing because when I got in she was ready to go to
bed.

3) We (finish) our work by seven o’ clock last night.

4) I thought you (work) there for two months.

11. Supply the Future Simple or the Future Continuous tense of the verbs in
the brackets (3, ¢.127, 129):

1) Do you think you (still work) here in five years’ time?

2) At this time next year, I (write) my memories.

3) Sit down and fasten your seat belt. We (take off) in a few minutes.
4) I don’t think I (see) him tonight.

12. Supply the Future Perfect or the Future Perfect Continuous of the verbs
in the brackets (3, ¢.130- 131):

1) They (complete) the new bridge by the end of the year.
2) By the end of this week I (wait) seventeen weeks for my phone to be
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repaired.
3) Do you realize that on August 15, we (live) in this house for fifty years?
4) I hope I (finish) this report by the end of the day.

13. Put the following sentences into the past (3, c.149- 151):

1) Mary says she was here two days ago.

2) John asks them what they know about it.

3) He asks us where we will go in two days.

4) Peter thinks that I am singing an Italian song.

5) She says she was making a new dress for her daughter.

14. Put a possessive pronoun in the conjoint form or in the absolute form
(3, c. 236- 237):

1) Ann has got five books, so I borrowed one of ...
2) I forgot to call my uncle on ... birthday.

3) This girl never puts anything back in ... place.
4) It's a favourite place of ...

5) I'm nervous about ... date with Peter.

15. Put an ordinal numeral (3, c. 233- 235):

1)She was ... to tell me the news.
2)Saturday is ... day of the week.

16. Fill in the blanks with the appropriate words:

The scope of the problems was also found to be broader than had been 1)
Pollution does not respect frontiers, and emissions 2) in one country often
impact its neighbors or, in some cases, the entire planet. 3) problems
such as long-range air pollution and the still-current practice of exporting wastes
to other countries began to feature in our daily news.

Additional control programs were proposed, 4) in a more life-cycle view
of materials and products and in a consensus that it is more efficient to 5)

the driving forces of a problem than to deal with the final impacts. There was
more talk about “preventive” or “upstream” action, where the 6) actors
are often mainstream business or development professionals but may also be
ordinary citizens in the form of consumers. Given that many of the driving
forces have their origins in globalized trade and 7) patterns, trade
measures became a more visible part of 8) policy.
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A. rooted B. Transboundary  C.released D.expected E.
environmental  F. tackle G.consumption H. key
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